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pellleHHs] KBaJPAaTHBIX YPaBHEHUI U TPeHAKeP A JIs
IIPOBEPKH YCBOEHHOTO







N

CopoepxxaHue




P

ax’ +bx+ ¢c=0

l)a= b= c=
2),[[ =b?% — 4ac

1

x(ax+b)=0

-b OguH =
22 | Lkoperp |1 B0

b
- 0<0 | H/P x=0 wiu =]

!
[1Ba

KOPHS
ecTb
Bceraa




*TpeHaxep




[lonHble U HeEMONHbIe KBaApaTHbIE YPaBHEHUS
(1 BApumaHT)

10X*+5X=0 2X” +3X-5=0
12X +3X=0 5X*-7X+2=0
25-100X*=0 3X*+5X-2=0
4-36x°=0 2X*-7X+3=0

2X*-14=0 3X*+2X-5=0
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2 BapuaHT
X*-10X=0 5X*-3X-2=0
X* +6X=0 6X*+X-1=0
3X*-27=0 2X”-5X+3=0
2X”-32=0 X*-5X-1=0

3X*-15=0 2X*-QX+4=0
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3 BapuaHT
2 X* +X=0 2 X*4+3X-2=0
4 X* -X=0 3 x*+8-3=0
3 x*-6=0 - X* +2X+8=0
5 X* +45=0 - X* +7X-10=0

2-18 X*=0 9 X*-6X+1=0
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4 BapunaHT
2 X*-8=0 7 X* +QX+2=0
3 X* - 75=0 5 x*-8x+3=0
4 X*-12=0 6 X* - 7X+1=0
4 X*+20X=0 5 x> -8X-4=0

3 X* -12X=0 - X* -2X+15=0




' OTBeTb

1 BAPUaAHT 2 BAPUAHT
0, -1/2; 0; 5;
-1/4, 0; 0; -6;
+1/2; +3;
+2/6, +1/3; +4;
+\7; +v/s5;

1,-2,5, 1, -0,4,
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3 BapuaHT 4 BApUaAHT
0, -1/2; +2
0, "4 +5;
+/2; +/3;
HeT pelleHuUs; 0; -5;
+1/3; 0; 4;

2, 72; -1 2/ 7;







